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1. If A has 4 elements.How many subsets does A has?

o Watch Video Solution

2. Convert 520° into radian measure ?

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_WlBJ05HNIp6i
https://dl.doubtnut.com/l/_GA2yTRJwHAjs

3.Find the conjugate of /37 — 1

° Watch Video Solution

1 1
40fF — + — =2

6r 77 — g mdx

° Watch Video Solution

5 5 5
5.Find the 20" term of the G.P TR ?

o Watch Video Solution

6. Find the slope of the lines making inclination of 60° with the

postive direction of x-axis ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ZFgNpgsWHN1t
https://dl.doubtnut.com/l/_IC6hc3OB4Ap0
https://dl.doubtnut.com/l/_6l9mi0Fs0nMk
https://dl.doubtnut.com/l/_0UF2vToAmzkQ

3
7. Find the derivative of 22 — Zw.r.t.x.

° Watch Video Solution

8. write the negation of 'Foralla,b € I,a — b e I’.

o Watch Video Solution

9. Define mutually exclusive events.

o Watch Video Solution

10. If for some non-empty sets A and B containg 3 elements

each,subset A x B={(3,4),(5,-3),(6,1)}.Find the set A.

° Watch Video Solution



https://dl.doubtnut.com/l/_Epc1JDF7DSSd
https://dl.doubtnut.com/l/_F328gQ78OWiB
https://dl.doubtnut.com/l/_N2QUCAMbItJO
https://dl.doubtnut.com/l/_KOtQAqHiOYze

1. If A={1,2,3,4},B={2,3,5} and C={3,5,6}.Find A U (BN C).

° Watch Video Solution

12. If X and Y are two sets such that n ( X) =17,n ( Y) =23, and n

(XUY) =38fndn(XNY)

o Watch Video Solution

13. Find the range and domain of the real function

o Watch Video Solution

14. The minute hand of a clock is 2.1cm long. How far does its tip

22
move is 20 minute. (useﬂ' = 7)


https://dl.doubtnut.com/l/_yRPNPgVuiDtm
https://dl.doubtnut.com/l/_xnYynvkFWIZo
https://dl.doubtnut.com/l/_O3NUC21UK08E
https://dl.doubtnut.com/l/_A1go14bbh10l

° Watch Video Solution

tanz + tan
15. Prove that tan(z + y) = Y

1 —tanztany

o Watch Video Solution

16. Evaluate: lim [1 T + :clo].

r— —1

o Watch Video Solution

17. A die is thrown.Write the sample space.Also find the probability

of the event"A number greater than or equal to 3 will appear”.

o Watch Video Solution



https://dl.doubtnut.com/l/_A1go14bbh10l
https://dl.doubtnut.com/l/_ylmXluHLZspu
https://dl.doubtnut.com/l/_zkhfGMSZiIqk
https://dl.doubtnut.com/l/_RfmYD10TIKsX

18. Write the inverse , converse of 'If a parallelogram is a square ,

then it is a rhombus.

o Watch Video Solution

19. Two series A and B with equal means standard deviation 9 and

10 respectively . Which series is more consistent ?

o Watch Video Solution

20. Find the equation of the line perpemdicular to the line

x + y + 2 = 0and passing through the point (-1,0).

o Watch Video Solution

21. Convert the complex number -1+i in the polar form ?


https://dl.doubtnut.com/l/_cj2Bto3Wc7iv
https://dl.doubtnut.com/l/_z1fhBHoKlGkM
https://dl.doubtnut.com/l/_bMadSISfB3QE
https://dl.doubtnut.com/l/_fhgPnjIRefro

o Watch Video Solution

22.Solve 3z + 2y > 6 graphically.

o Watch Video Solution

23. Find the distance between the parallel lines

3r —4y+T7=0and 3z —4y+ 5 = 07?

° Watch Video Solution

24. Show that the points A(1,2,3),B(-1,-2,-1),C(2,3,2) and D(4,7,6) are

the vertices of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_fhgPnjIRefro
https://dl.doubtnut.com/l/_zKu2pDClDcyz
https://dl.doubtnut.com/l/_kqGOezsZOKRm
https://dl.doubtnut.com/l/_xyokXxhZvoJV

25.1n a group of 65 people, 40 like cricket, 10 like both cricket and
tennis. How many like tennis only and not cricket? How many like

tennis?

o Watch Video Solution

26. Determine the domain and range of the relation R defined by

R={(x,x+5) : x in {0,1,2,3,4,5}}

o Watch Video Solution

27. Prove that

r +
(cos & + cosy)® + (sinz — siny)® = 4cos2< 5 y>

o Watch Video Solution



https://dl.doubtnut.com/l/_8TrgR2r5UDJW
https://dl.doubtnut.com/l/_8VqSgQbOrEl9
https://dl.doubtnut.com/l/_Dbw0uOUgToaI

28. Solve the equation 22 + 3z + 9 = 0.

° Watch Video Solution

) 3+ 2¢sinf .
29. Find real 6 such that ——————— is purely real.
1— 2isinf

o Watch Video Solution

30. In a class of 60 students. 30 opted for NCC, 32 opted for NSS
and 24 opted for both NCC and NSS. If one of these students is
selected at random, find the probability that

(i) The student opted for NCC or NSS.

(ii) The student has opted neither NCC nor NSS.

(iii) The students has opted NSS but not NCC.

o Watch Video Solution



https://dl.doubtnut.com/l/_UocitRJrjmWs
https://dl.doubtnut.com/l/_XUu96mhZcyHV
https://dl.doubtnut.com/l/_fh2A1PtQoVmK
https://dl.doubtnut.com/l/_rOTfPXPtN2Nj

31.1n a class of 60 students. 30 opted for NCC, 32 opted for NSS and
24 opted for both NCC and NSS. If one of these students is selected
at random, find the probability that

(i) The student opted for NCC or NSS.

(ii) The student has opted neither NCC nor NSS.

(iii) The students has opted NSS but not NCC.

o Watch Video Solution

32.Find the coefficient of 2%y in the expansion of (z -+ 2y)°

° Watch Video Solution

33.Find the sum of the sequence 7,77,777,7777.......n terms

o Watch Video Solution



https://dl.doubtnut.com/l/_rOTfPXPtN2Nj
https://dl.doubtnut.com/l/_U9x6G8NyzYqx
https://dl.doubtnut.com/l/_kB1itdCg0Oad
https://dl.doubtnut.com/l/_98DlRMY9fTRE

a” + b"

34.If is the AM. between a and b, then find the value

an—l + bn—l

of n.

o Watch Video Solution

35. Find the derivative of the function '-x' with respect to 'x' using

first principle.

o Watch Video Solution

36. Find the centre and

2 +y? +8x+10y—8=0

radius

of

the

circle

o Watch Video Solution



https://dl.doubtnut.com/l/_98DlRMY9fTRE
https://dl.doubtnut.com/l/_e3PXZZFnuUij
https://dl.doubtnut.com/l/_K1vTv3h6EG5r

37. How many words, with or without meaning can be made from
the letters of the word MONDAY, assuming that no letter is
repeated, if.

(i) 4 leters are used at a time,

(ii) all letters are used at a time

(iii) all letters are used but first letter is a vowel ?

° Watch Video Solution

38. How many words, with or without meaning can be made from
the letters of the word MONDAY, assuming that no letter is
repeated, if.

(i) 4 leters are used at a time,

(ii) all letters are used at a time

(iii) all letters are used but first letter is a vowel ?

o Watch Video Solution



https://dl.doubtnut.com/l/_q5FIlCdJrOFH
https://dl.doubtnut.com/l/_Rq5wjZsDwmk6

39. How many words, with or without meaning can be made from
the letters of the word MONDAY, assuming that no letter is
repeated, if.

(i) 4 leters are used at a time,

(ii) all letters are used at a time

(iii) all letters are used but first letter is a vowel ?

° Watch Video Solution

40. Verify by the method of contradiction that /2 is irrational .

o Watch Video Solution

41.Find the probability that when a hand of 7 cards is drawn from a

well shuffled deck of 52 cards,it contains (i) 3 kings.

o Watch Video Solution



https://dl.doubtnut.com/l/_BO4v8x1arxtr
https://dl.doubtnut.com/l/_ho0glphccDcT
https://dl.doubtnut.com/l/_mW8PJP0wQnon

42.Find the probability that when a hand of 7 cards is drawn from a

well shuffled deck of 52 cards,it contains (ii) Atleast 3 kings.

o Watch Video Solution

43. Define greatest integer function .Draw its graph ,write its

domain and range ?

o Watch Video Solution

sin @

0
show that lim M =17?
0—0

44, Prove that lgm0 =1, (@ being in radians) and hence
_)

o Watch Video Solution



https://dl.doubtnut.com/l/_mW8PJP0wQnon
https://dl.doubtnut.com/l/_YBaBF6ZFztkO
https://dl.doubtnut.com/l/_0nriOUb2Ihy1
https://dl.doubtnut.com/l/_n6dZ7exFjNCY

45.

1 1 1 1
1.4 + 4.

+ + o ——" _wneN
7710 77 (3n—-2)3n+1)  (3n+1) '

o Watch Video Solution

46. How many words with or without meaning each of 3 vowels and

2 consonants can be formed from the letters of the word INVOLUTE.

° Watch Video Solution

)50are

47.Find a if the 17'h and 18'h terms of the expansin (2 + a

equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_nqoeCvGMsWzv
https://dl.doubtnut.com/l/_BSbax6G5xMmn
https://dl.doubtnut.com/l/_rSI0a7n3UCTh

48. Derive the equation of the line with slope m and y-intercept

1
cAlso find the equation of the line for with tanf = 3 and vy

intercept c is— 3

° Watch Video Solution

T vy 3
49. Prove that cos? + z + cos? (ac + E) + cos? (;p — E) — 5

and hence find the values of

. 92 <2 E 22 Z
sin“ x + sin a:—|—3 + sin :c—3

o Watch Video Solution

50. A manufacturer has 600 litres of a 12% solution of acid. How
many litres of a 30% acid solution must be added to it so that acid

content in the resulting mixture will be more than 15% but less

than 18%?



https://dl.doubtnut.com/l/_FV10voyRwQ2m
https://dl.doubtnut.com/l/_tO0CkD6achcL
https://dl.doubtnut.com/l/_RlxGaIgm8556

| QP Watch Video Solution

51. Find the sum to 'n' terms of 1.2.3 +2.3.4+3.4.5+......

° Watch Video Solution

a+br, <1
52.Suppose f(z) = ¢ 4, x—1
b—ax, z>1

and if lim f(z) = f(1) what are possible values of a and b?

rz—1

° Watch Video Solution



https://dl.doubtnut.com/l/_RlxGaIgm8556
https://dl.doubtnut.com/l/_oS92vOA49bGh
https://dl.doubtnut.com/l/_XlSVYeZyQ1OU

